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#include<iostream>
using namespace std;
int main()

{
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system("pause" );

return 0;

}
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1. cout<<"8/2"<<"\n";
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2. cout<<9/5<<"\n";
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3. cout<<9/5. 0<<"\n" ;
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4.  cout<<9%4<<"\n" ;
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5. cout<<( b + (3>4 ) )<< "\n";
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cout<<C 0 || 1 & 0 ) <<"\n";
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g s L (DL B0 ©2 D)1
cout<<( 6 !=5 ) <<"\n";
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int main()

{

int money,cash,change,m500,m100;
int m50,m10,m5,m1;

money=123;

cash=500;

change=120;

cout<<"HEEEH 1
cin>>money;

cout<<"ER &

cin>>cash;

cout<<( 3 +4 %7 /12 %5 ) <<"\n";
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cout<<"F%, 2 :"<<change<<"\n";

m500 = cash-money/500;

m100 = cash-money%100;

m50 = ( cash - money )%100/50;

m10 = (cash - money )/10;

( cash - money )%10/5;
cash - money/1;

m5
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cout<<"m500 = "<<m500<<"\n";
cout<<"m100 = "<<m100<<"\n";

cout<<" m50 = "<<m50<<"\n";
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cout<<" m10 = "<<m10<<"\n";
cout<<" mb5 = "<<m5<<"\n";
cout<<" m1l="<<ml<<"\n";
system("pause");

return O;

}
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int main()

{

char a;
int b;
cin>>a;
cout<<"a= "<<a<<"\n";
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cout<<"at0 = "<<at+0<<"\n";

b=a;

b=b+1;

cout<<"b= "<<b<<"\n";

system(" pause" ) ;

return 0;
}
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int main()
{
int a,b,c,h Kk, p, s;
float t;
a=4;
b=(a==3);
c=atb;
h=18;
h=h+1;
k=T;
k=23;
s=5.0/2;
t=5.0/2;
cout<<"a= "<<a<<"\n";
cout<<"b= "<<b<<"\n";
cout<<"c= "<<c<<"\n";
cout<<"h= "<<h<<"\n";
cout<<"k= "<<k<<"\n";
cout<<"s= "<<s<<"\n";
cout<<"t= "<<t<<"\n" ;
system("pause" );
return 0;
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int main()

{
int a, b;
b=8;
cout<<"a=";
cin>>a;
1f(a>10)
b=123;
1f(a>20)
b=39;
cout<<"b= "<<b<<"\n";
system(" pause" ) ;
return 0;

J

(C)4

(€)10

(©10

(€)10

(€)23

(O1

(O1

(D)3

(D)3

(D)5

(D)19

(D)95

(D)0

(D)0

FiERAL e SR kAT E T G AL
28. & # = cin>>a€"/2f?é'f‘v€£?’i§’*—‘§$§]% 4

(B)123 ()39
%.%‘%chvm€zﬁéﬁﬁ5ﬂéyﬁﬁ% 30

(B)123 ()39
%.%‘ﬁﬁcmDM€iﬁ@€E5W§?ﬁﬁ% 14

(B)123 (€39

Wﬁﬁﬁﬂﬁ%%’b=(M8
mﬁﬁﬁﬂﬁé%’b=(M8

Wﬁﬁﬁﬂ%é%’bz(MS

L

AEH 5 H

(D)4

(D)30

(D)14



int main()

{
int n,s; // n *&F A s A ATEA K
cout<<" ¥ $+4adk @ ";

cin>>n;
1f(n<bh)
s=30;
else 1f(n<=10)
s=5H0;
else 1f(n<20)
s=T70;
else 1f(n<=50)
s=90;
else
s=100;

cout<<" F#H "<n<<" 45 ¥ "Ks<K" ~\n";
system(" pause" ) ;
return 0;
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int main()
{
float wh; // w % %&€ h ~& L3
float bmi;
float temp;
cout<<"#8 £ (kg) : ";
Cin>>Ww;
cout<<" ¥ ® (cm) : ";
cin>>h;
h=h/100;
bmi = w/h*h;
temp=w;
w=h;
h=temp;

cout<<" fn e & H" <<w<<" 2 7\n";
cout<<" inend 3 F"<<h<<" = 2 \n";
system(" pause" );

return 0;

}
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(A)bmi = w/h*h;  (B) bmi = (w/h )* h; (C) bmi = w/(h*h);

= bmi;

RN FRE
| E A
cind>w; r@faﬁﬁfﬁ’ﬂi&j/\’l 65 °
cin>>h; pbr:?éﬁf?ﬂﬂi’ﬂi%]/\’l 175 -

39. A Az 5N mﬁa?] g E R ? 27 (AR temp=w; w=h;
b enier )
(A)65  (B)175 (C)1.75  (D)0.65

40, E]Jﬁ_\mﬁ] ' E e o0 R g R 2 o) (A X temp=w; w=h;
78 L onier)

(A)65  (B)175 (O1.75  (D)0.65

AEH 7 H

(D) w/(h*h)
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